

ק"ו 2-1

שנ התנגד  $f(x)$  זה  $f(x)$   $\in [a, b]$   $\forall x$   
 $y \in [a, b]$   $\exists x \in [a, b]$   $f(x) = y$   
 $y = f(x)$   $\Leftrightarrow$   $x = f^{-1}(y)$

כתיב  $f^{-1}$   $y_0 = 0$   $f(x) = 0$   $x \in [a, b]$   
 $x \in [a, b]$

משפט 1 זה  $f$   $\in [a, b]$   $\rightarrow$   $f^{-1}$   $\in [a, b]$   
 $f(x) = \frac{1}{x}$   $x \in [0, 2]$   $\rightarrow$   $f^{-1}(x) = \frac{1}{x}$

משפט 2 זה  $f(x) = x \cdot f(x)$  זהו  $f(x) = \frac{1}{x}$   $x \in [0, 2]$   
 $0 < 1 < b$   $f(2) = 6$   $f(0) = 0$   $f(1) = 1$   
 $\Leftrightarrow$   $f(x) = 1$   $x \in [0, 2]$   $\rightarrow$   $f^{-1}(x) = \frac{1}{x}$   
 $f(x) = \frac{1}{x}$   $\Leftrightarrow$   $x \cdot f(x) = 1$

2 זה  $f: [a, b] \rightarrow [c, d]$   $\rightarrow$   $f^{-1}: [c, d] \rightarrow [a, b]$   
 $f(x) = c$   $x \in [a, b]$

$f(a) = c$   $f(b) = d$   $\rightarrow$   $f(x) \in [c, d]$   $x \in [a, b]$   
 $f(x) \in [c, d]$   $\Leftrightarrow$   $f(x) > c$   $\vee$   $f(x) < d$   $\vee$   $f(x) = c$   $\vee$   $f(x) = d$

$f(x) = c$   $\rightarrow$   $f^{-1}(c) = x$   $x \in [a, b]$   
 $f(x) > c$   $\rightarrow$   $f^{-1}(f(x)) = x$   $x \in [a, b]$   
 $f(x) < d$   $\rightarrow$   $f^{-1}(f(x)) = x$   $x \in [a, b]$   
 $f(x) = d$   $\rightarrow$   $f^{-1}(d) = x$   $x \in [a, b]$   
 $\Leftrightarrow$   $f^{-1}(c) = 0 \Leftrightarrow f(x) = 0$   $x \in [a, b]$   
 $f(x) = c$   $\Leftrightarrow$   $f^{-1}(c) = x$

שנ כל  $f: [a, b] \rightarrow [c, d]$   $\rightarrow$   $f^{-1}: [c, d] \rightarrow [a, b]$   
 $f(x) = f(b)$   $x \in [a, b]$   $\rightarrow$   $f^{-1}(f(b)) = x$   
 $x \in [a, b]$   $\rightarrow$   $f^{-1}(c) = x$

משפט 1 זה  $f(x) = x^2 + 1$   $x \in [0, 1]$   
 $f(x) = 2$   $x \in [0, 1]$

משפט 2 זה  $f(x) = x^2 + 1$   $x \in [0, 1]$   $\rightarrow$   $f^{-1}(x) = \sqrt{x-1}$   
 $x \in [1, 2]$   $\rightarrow$   $f^{-1}(x) = \sqrt{x-1}$



0 < x < 1, 1 < y < 2, x < y, x < y < x^2 < y^2  
a^3 < b^3 ⇔ a < b, a, b > 0, פולינום, f'(x) > 0

f(a) < f(b) ⇔ a < b, f' > 0

גורם ל-a, b → f' > 0, f' > 0

f'(c) = (f(b)-f(a))/(b-a) ⇔ c ∈ (a,b)

אם f'(c) = 0, c ∈ (a,b) → f' > 0

x < c < y, f'(c) > 0

אם c ∈ (x, y), f'(c) > 0, x < x < y

f'(c) = (f(x)-f(y))/(x-y)

f(x) < f(y) ⇔ f(x) - f(y) < 0 ⇔ (f(x)-f(y))/(x-y) > 0

אם x < y, f'(c) > 0

1/(1+b) < ln((1+b)/(1+a)) < 1/(1+a) for 0 < a < b

ln(y/x) = ln y - ln x

ln((1+b)/(1+a)) = ln(1+b) - ln(1+a)

אם x < y, f'(c) > 0

1/(1+b) < (ln(1+b) - ln(1+a))/(b-a) < 1/(1+a)

אם c > 0, f'(c) > 0

f'(c) = (f(b)-f(a))/(b-a)

c ∈ (a,b), f'(c) > 0

(ln(1+b) - ln(1+a))/(b-a) = [ln(1+x)]'|\_c = 1/(1+c)

1/(1+b) < 1/(1+c) < 1/(1+a) ⇔ a+1 < c+1 < b+1 ⇔ a < c < b

1/(1+b) < (ln(1+b) - ln(1+a))/(b-a) < 1/(1+a)

אם x < y, f'(c) > 0

אם x < y, f'(c) > 0, lim\_{x→∞} f(x) = ∞

אחרת ישו בדרך כלל יש פק  $\lim_{x \rightarrow -\infty} f(x) = L$  (נ"ס)  $\rightarrow$  נ"ס פק  
 בדרך כלל פק)  $\in \mathbb{R} \setminus \mathbb{C}$  יש פק  $\lim_{x \rightarrow c} f(x) = \infty$  (נ"ס)  $\rightarrow$   
 נ"ס

כל פק)  $\in \mathbb{R} \setminus \mathbb{C}$  יש פק  $\lim_{x \rightarrow c} f(x) = -\infty$  (נ"ס)  $\rightarrow$  נ"ס פק  
 נ"ס בדרך

יש  $\lim_{x \rightarrow \infty} f(x) = \infty$  פק פק  $\lim_{x \rightarrow \infty} f(x) = \infty$  נ"ס  $\rightarrow$  נ"ס

:פיקס נ"ס נ"ס נ"ס נ"ס

יש בדרך כלל נ"ס  $\lim_{x \rightarrow 0} \frac{1}{x} = \infty$  נ"ס  $\lim_{x \rightarrow 0} \frac{1}{x} = -\infty$  1

יש בדרך כלל נ"ס  $\lim_{x \rightarrow \infty} \frac{1}{x} = 0$  נ"ס  $\lim_{x \rightarrow -\infty} \frac{1}{x} = 0$  2

$\lim_{x \rightarrow \infty} \frac{x^2 + x + 1}{2x^2 - 3x + 5} = \frac{1}{2}$  3

$\lim_{x \rightarrow \infty} \frac{x^4 - x^3 + 1}{2x^4 - 4x^2 + 5} = \lim_{x \rightarrow \infty} \frac{1 - \frac{1}{x} + \frac{1}{x^4}}{2 - \frac{4}{x^2} + \frac{5}{x^4}} = \frac{1}{2}$  נ"ס

$\lim_{x \rightarrow \infty} \frac{\cos^2 x + \sin x}{x} = 0$  4

$\lim_{x \rightarrow \infty} \frac{\cos^2 x + \sin x}{x} = 0$  נ"ס

$\lim_{x \rightarrow \infty} \sin x \sin \frac{1}{x} = 0$  5

$\lim_{x \rightarrow \infty} \sin x \sin \frac{1}{x} = 0$  נ"ס

$\lim_{x \rightarrow 0^+} \ln x = -\infty$  6

יש בדרך כלל  $e$  יש  $\ln e = 1$  נ"ס

יש  $e^x$   $e^x > x$ , נ"ס

(נ"ס) נ"ס  $e < e^x$  נ"ס



נ"ס  $\ln e < \ln e^x = x$

השאלה היא להוכיח

$$\lim_{x \rightarrow 0^+} \ln x = -\infty$$

$$\lim_{x \rightarrow \infty} x \sin x$$

הוכחה: נניח  $H = 2\pi N$  עבור  $N$  שלם

$$f(H) = 2\pi N \cdot \sin(2\pi N) = 2\pi N \cdot 0 = 0$$

כלומר, עבור  $H = 2\pi N$  מתקיים  $f(H) = 0$

עבור  $H = 2\pi N + \frac{\pi}{2}$

$$f(H) = (2\pi N + \frac{\pi}{2}) \sin(2\pi N + \frac{\pi}{2}) = (2\pi N + \frac{\pi}{2}) \cdot 1$$

$$f(H) = (2\pi N + \frac{3\pi}{2}) \sin(2\pi N + \frac{3\pi}{2}) = (2\pi N + \frac{3\pi}{2}) \cdot (-1)$$

לכן,  $\lim_{x \rightarrow \infty} x \sin x$  אינו קיים

$$\lim_{x \rightarrow \infty} \frac{\sqrt{x^2+1}}{2x}$$

הוכחה: נניח  $x > 0$   
נניח  $x < 0$

$$\lim_{x \rightarrow \infty} \frac{\sqrt{x^2+1}}{2x} = \lim_{x \rightarrow \infty} \frac{\sqrt{x^2(1+\frac{1}{x^2})}}{2x} = \lim_{x \rightarrow \infty} \frac{x\sqrt{1+\frac{1}{x^2}}}{2x} = \frac{1}{2}$$

$$\lim_{x \rightarrow \infty} x \left[ \frac{1}{x} \right]$$

$$f(H) = H \cdot \left[ \frac{1}{H} \right] = 1$$

$$f(H) = H \cdot 0 = 0$$

$$\lim_{x \rightarrow \infty} x \left[ \frac{1}{x} \right] = 0$$

$$\lim_{x \rightarrow \infty} x \left[ \frac{1}{x} \right] = 0$$

$$\lim_{x \rightarrow \infty} \cos x \sin x$$

$$\cos x \sin x = \frac{\sin 2x}{2}$$

$$H = \pi N$$

$$\frac{\sin 2\pi N}{2} = 0$$

262

$$L = 2\pi N + \frac{\pi}{2} \quad (2) \quad \Pi$$

$$\frac{\sin 2\pi N + \frac{\pi}{2}}{2} = \frac{1}{2}$$

(1)  $\lim_{x \rightarrow \infty} f(x) = 0$  jika  $\lim_{x \rightarrow \infty} f(x) = \infty$  maka  $\lim_{x \rightarrow \infty} \frac{1}{f(x)} = 0$

$$\lim_{x \rightarrow \infty} \frac{1}{f(x)} = 0 \quad \text{jika} \quad \lim_{x \rightarrow \infty} f(x) = \infty \quad \text{atau} \quad \lim_{x \rightarrow \infty} f(x) = -\infty$$

jika  $\lim_{x \rightarrow \infty} \frac{1}{f(x)} = 0$  maka  $\lim_{x \rightarrow \infty} f(x) = \infty$  atau  $\lim_{x \rightarrow \infty} f(x) = -\infty$

$$\lim_{x \rightarrow \infty} \frac{1}{f(x)} = 0 \quad \text{jika} \quad \lim_{x \rightarrow \infty} f(x) = \infty \quad \text{atau} \quad \lim_{x \rightarrow \infty} f(x) = -\infty$$